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T—H2DELE

T—2M0DE type) BEEDHAGIEL e

int i=1 BUMNADS

float i=0.1 IR EEND

string i="XF XFEMNAD

bool i = True True H False D&

list i=[1,234,5] FEUCH BRI (1A T v R)

tuple i=(1,2,3,4,5) BEOEBEPLHUEZDEBEMNTELEL
dict i={a’:1, 'b:2} PR 9 BF(di[a’]

set i{1,2,3,4,5,6} BEZHIRLTCA=—VRELTRET 5,
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HERKBGE AR

AR BRI HRORYE) (]
(E# i="test)
type() type(i) class 'str’ EHOEIED
len() len(i) 4 XFHOURCDEAIRD
print() print(‘hello’) hello ORMRRIND
help() help(str) ORNIZET AV YRHIEETRTRSND, L
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XFHZET DAY VR

ERRUE -3

AR (i = test) H H(RYE) " =
EH[] i[0:2],i[1:1,i[:3] ‘te’,’est’, 'tes’ [HHDEERDLYDEEE TS
find ifind('t) 0 Ao ERAIR ALY FOREEET
BEHREMSIELF-WEELind('t,2)]
count i.count(’t") 2 S8 DX FEHNDEHERY
capitalize i.capitalize() "Test’ ZEHO—BRVDXFLETRIXFCTRY
title L ttle() Test ﬁ:\/’;; "g;iﬁfﬁi @ﬁfgbfﬁ%
upper i.upper() TEST TARTAXFITLTRY
lower i.lower() ‘test’ FTARTPMXFIZLTRT
replace i.replace(’te’,be’) ‘best’ F15IMDOXFINEE25 | HICEEZTH]RZ D
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append

insert

pop

remove

copy

JAREZET AV (1/2)

ERuE:30:]
(i=101,2,3])

i1, i-1]

i[0:21,i[1:1,i[:2]

i.append(4)

i.insert(0,5)

i.pop(0)

i.remove(2)

j=i.copy()

HA(RYIE)

[1,2,3][2,3] [1,2,3]

[1,2,3,4]

[5,1,2,3]

[1.3]

j=0123]

s &
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FE15I8DATYIRIZ
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sort

reverse

join

clear

extend

index

count

JRREZEET DAYV (2/2)

ERpuE:30c]

(i=[1.23])

i.sort()

i.reverse()

i=[ab,c]
‘' .join(i)

i.clear()

i.extend([4,5,6])

i.index(2,0)

i.count(3)

HA(RY1E)

[1,2,3]

[3,.2,1]

a/b/c

I

[1,2,3,4,5,6]

w *
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DANZERIBICEVEZ S,
FE15IEXFITORIFTRY,
BMN—HLTUWVENEDLITFE ALY,
RAEXFIITEA

JRRZEHIZLTIRT,

EHIZYR BT S
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A7 )L THIEATRE
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clear

copy

get

items

keys

pop

popitem

update

values

HERICET HAYYE

SR ETE
(i={a"1,b"2c:3})

i.clear()

j = i.copy()

i.get(‘a’)

i.items()

i.keys()

i.pop(‘a’)

i.popitem()

i.update({'a’:5})

i.values()

HA(RY1E)

{}

j={'a"1,b2,c’:3}

1

dict_items([('a’, 1), ('b', 2)])

dict_keys(['a', 'b'])

1

(b:2)

{'a’:5,b2,’c:3}

dict_values([1, 2, 3])

w *

key,value#[Z£ERE T

fEEL
FE15IHUHKIELTkeyDEZEIRY
TR TDkey: fEZRT
TRTDkeyZiRT

A LIREH Likey BIFHIRESNS

STNETERS
EHMLIREH L key:fEIFRIFREND

keyl[ZZLMEZ AN ERERICIBINSN D,
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S£8ICEATH5AYYK

ks IR EE _

AR (=t 2ans (R 1B) W &
add i.add(6) {1,2,3,4,5,6} FTTICELERSA>TWIIGAIEELAL
clear i.clear() 0 EXRDHIK
copy j = i.copy() i={1,2,3,4,5} fEEL
difference I.difference({1,2,6}) {3,4,5} F1BIUTHNEHERT
difference_update i.difference_update({1,2,6}) {3,4,5} TRORYELTEHMICLEES
discard i.discard(1) {2,3,4,5} BERTMYRKRS
intersection i.intersection({1,2,6,7}) (1,2} EHEE15IMEICHIERERT
intersection_update i.intersection_update({1,2,6,7 | {1,2} LROANBEERICEEEZT S,
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isdisjoint

issubset

issuperset

pop

remove

union

update

S£8ICEATH5AYYK

ERpuE:30c]
(i={1,2,3,4,5})
(1={1.26,7,8})

i.isdisjoint(j )

j-issubset( i)

i.issubset({1,2,3})

i.pop()

i.remove(1)

i.union(j)

i.update(j)

tHA(RYE)

False
False
True

{2,3,4,5}

{2,3,4,5}

{1,.2,3,4,5,6,7,8}

{1,.2,3,4,5,6,7,8}

2DMNEESNTELRITESB ETrueZiRd
F15IHICEH)DEENTLENEIRT
issubset® i

KEDERD—DOZHIRT 5.
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